VY[ PV FYD

oo Olyis

ELEE uL.wl.?co » )9

:L)D)Jvo
gt dmalliue 18

338 Oluolo 1 (6590
3oy Swolud (g3lwdaw 21,8 )3 gdas gl LLT, gyl

e Slale slajls 4 dx g5 I3l 5 bao )3 (g5lgp (sl panws (5ldde (gl

0, 395 olb (gaiojls ax 050wl )0 &S 2y Ly p Jb I Ll pre

92 wels> 9329y 2 dlse L Loges (Gilon sl whas (Kol (gildio aly8 5
Sy OYoleo >
Soere Jaudlyasd Y¥olro >
e il g bk
S Jadlyd @Yoleo > ga%e d)lge 5o
A5 3590 (sl o (sl 55 ol 5 ol




VY[ PV FYD

338 Ol (5590

Sy OYolro

(0328 9 yolyS Jgomo slo (y3g)) (o> (6 p> ©Yoleo
(f(x)=0) (das e (> &Yolao

hd g CYslro
# ol dbad b,

#gudly s bg)
el Uiy

Wyl 0 )8 i b l38l oy 0 aS” ola by %

338 Oluolo 1 (6590
ol ahadi (g,

(Fixed point or Contraction) oLal L Cobi abis g,e05

959 bl o2 o] Sl Brto 5 o0 i G(X)=0 b 08 08
[ =[x —r.x°4r]

g(x7) = x7 mu)b g ol dogy

Ll 518 pj byd S
lg' () <a <1

25 9o 4395 £95b 398 il )3 aaii yn | &S 3as Wb 0 olSS]

X1 = glxg) with xq € 1

S JJIJ? ]).mxo 4\.‘0.9.’6\)‘.9).*090.)9: 1)§0—h




VY[ PV FYD

8o Oluwlxo 1 (5,900
ol aadi 09,

S99 Ll
g(xo) — g(x”) = g'(x)(xp — x°) o
2 oYole ¢l Lipschitz Lo glae 13

lx) — x7| < alxg — x|

@ parie ol Sed > 93¢ dalgs | Kan go3g (oLl dblee 13L& 5l S W 3]
Do (oo 1)Sed dolee iy flod 4 cald (538 sl cunl 58

338 Slawlw 51 (5590

b dall g,
fu(x)=x?=2=0 I =(1.15) Jbe
Jsl sl

2*’)= 2= = = . 9
x*=2=0—-x 2= x=2/x=g,(x)! e b 05,5 S

! 2 L;"-“’U]P
lga' (x)] =2/x* < 1Vx el
b el bl
2 2 2
w=Lhy=—=2xn=—=lix3=—=2 yy=—=1:--
Yo Xy X5 Y3
Lgd (2 )Y 5 ) s




YY/ BV FYS

S Clowbme p (65950
ol aals 409,
Fﬁb ubp..:‘

=2=0=>(x—1)*4+2x—=3=0

x=—Hx— 1P =3} = g,(x)?

i b 035 S

lep (X)) =|x—1] <05 <1 Yxel Cate Olg>

1.0000 1.

5000

M)b BV

1.3750 1.4297 1.4077

1.0000

1.5000

S Clowlbme 3 (65950
ol abals s,

pyw Ll

. =%+xﬁx=%(x+3_)=gc(.r)

it b 035 S

<05 <1 Vx el Cuto Wlgs

M)b BV
1.4167 1.4142 1.4142

L;:])io.tb Cepw ) pow g PO ul?w‘ uahn




VY[ PV FYD

$33 Slowbre 2 (65950
Cab abali o,
155 T T T P 155 5 T T T
¥ :x‘," ‘ y=x.
e e B ¥ R —)'—-"“—‘—frr 7 15 ‘\IT ————————— _)__________/" o
L Y=g 00 ; LY =g.00 i
1451 ! . . 1451 | .
i 1.0000 A i 1.0000
1\ 1.5000 HJ v T 1.5000 S z
14F | 13750 s L 14F | 14167 B 4
| 1.4297 RS Po1.4142 :
L 14077 i L1414 .
1.35 | i R '(‘T‘ N 1.35 | T ! 4
1 1.2 1.4 1.6 1 1.2 1.4 1.6
Xo Xo Xg X4 Xo Xy Xy
(@) X 1= G (0 =2 {0~ 17 -3} (B) Ko 1= o 000 = F [+ 5]
9
$33 Slowbre 12 (6590
Bisection method _oUgd pawds o9,
bl g o3l Yl ()
loi> @b ol > 451y [8,b] alold cunndlS" 05l )35 i) 3929 Jgose bg b 31
oled (b 1y 225 sl P wilgn U ol Al 3l ay) S
Step 0. Initialize the iteration number k = 0.
Step 1. Letm = 1(a + b).If f(m) = Oor 3(b — a) ~ 0, thenstop the iteration.
Step 2. If f(a)f(m) > 0, then let @ < m; otherwise, let b < m. Go back to
step 1.
i ke
tan{r —x) —x =0
2.3000 1.9500 2.1250 2.0375 1.9937 2.0156 ...
10




VY[ PV FYD

338 Olaolo 1 (6590
Ogwdly Cyign (g
Adoy d pj JSS Bllae (g5 oo (Jotie 0l sy Lol jleslitul b by, pl 5
18l Cuwd dolas
f(x)=0
EEE——)
338 Oluolo 1 (6590
Ogwdly (yign (W9

3y50 obﬁmﬁd)b&dm)bmﬁi))?ﬁb%ﬁﬁ Coley yeud yolaie cpl (gly
89)&%4}4&&)]90)9}&9ﬁ&bu]w4§b&AJ.DLMJ;J));
led o (2Ll 1) 298 (o0
. ’
y = fl) = f ) (x — xg)

I Al aiwly H1,S5 2,8 g Wled alad |y 28] joome o8 Lad &S puid Cpl JWid &

0— flxp) = f () (o — X0)

f,(xk) 23)5 (o0 gl el w5 S o 5
JF(xx) Bdio duwlxe b, JISI

Xk+1 = X —




VY[ PV FYD

238 Slawbro 2 (5590

Oy g (g
2o Lo jl o3kl b ygudly (g bey sllas U
. " (. s o
F) = flx)+ ) —x) + o) (x — xx)” X =x
- -t o " ) o 2
0= f(x%) & flxg) + o) (x —xp) + ! (2’% (X7 = x)”

CF ~ F e —xg + L% (2'“‘) (x” — xp)? e = Xx — x°

~ 0 f”(xk) 0 2
Xy = + (7 — xp) + 27 () (x” — xp)”.
fﬂ(xk) 2
leg | = 27 ) e = Agei = |Arerllel |Aeg| < 1

13
JUo cyguadly (g (g 8398 Clawlowo 5 (559
14 (©) fyap (X) = 3 (x% — 25)(x~ 10) - 5 (d) fraq () =tan(x— 2)




VY[ PV FYD

338 Slawbxo 2 (5590

Secant Method colw g,

b gy ol & Gl B oo )3 (gudly (55 (Bo) b CilSiw gy Coglis s
] o awd 4 OS] p 5 3l odlial

fxg) — fxp=1)

1) &
X — Xg—1
Fxx) : . S ) — flxg-y)
Xkl = Xp — vith dfdx, =
et = dfdx, with dfdx, X — Xp—1
15
$33 Slowbre 12 (6590
Secant Method cilw g,
2.5
2 +
1.5+
1 +
0.5+
0
0.5+
1+
5k
-2
16




VY[ PV FYD

o3 Olawlow 51 (590

©Ydlre lUd (3 gmdl)y (g w9,

ol (v x2) Joo b Jol a5 e dles jloslazul |

. —~ dfi afi
Sfilxr, x2) = filene, xae) + —— (X1 — X)) + —— (X2 — xop) =
dxy (X1k,X2%) 92 (v1e,x2e)
: ~ dfa af
falxy, x2) = faleg, xu) + — (xp =)+ = (xp —xy) =
dxy (X1k,X2¢) 9z (vne,x2e)

0

0

117
34 Sluwvlow (5590
OYdlre olud (g1 gl g (w9
Py plepyd
Filep, x2) | o | Filon, x2x) n dfi/oxy  af/dx Xp —
f:(A\'l 5 \'3) - f:( X1k »“Zk) i}f:;’{fh‘l (‘1_{:_;‘"(-’.\'3 i) X2 — Xop
10
|0
oniS o0 Sl S5 pd 50,8 o n X gl |, Y olas Jls
viapr | _ [au] _ [ofi/ox dfi/ox ]| fi(xi, xox)
X2 f+1 X2k Afa/dxy f2/0xy || o F2(xies X¥2k)
_ (05l (Byme) K )8
Je(m,ny = [3fm/dxn]lx,
18




VY[ PV FYD

-"'12 + "'1'-"’22 =35 filx), x2) = ,5\']2 —|—4,\'22 —-5=0

2x] —2x; =343 = 2.5 Falrr,xa) =263 =20 =30, =25 =0

1 | %{W_Elﬂ_?ﬁ 1 i
0]
/\ o L

IRNNNZE NN

XP+4x3=5 T

X . . . .
-3 -2 -1 o] 1 2 3 -3 -2 -1 0 1 2 3
(a) Newton method with (X,o, X,o) = (0.8, 0.2) (b) Newton method with (X,q, Xp) = (~1.0, 0.5

BN
\T

Al e ? o

-4
-5 o] 5 -3 -2 -1 0 1 2 3
- (c) Newton method with (,g. X,0) = (0.5, 0.2) (d) Damped Newton method with
(X10: X20) = (0.5, 0.2)

338 Slawbxo 2 (5590

ODE’s _Jgors Jawsl yis3 ¥ 3lne

Lot (Solizd (5jldo ) Loguas I8l o33 55 (o3as (sba)lil (o pioten 51 (Se
EUSRPWIR e S D PV VI WOV ST YT PYSOR Voo PO VW] JV- Yy (5 P9
Sl jeas ol 3 ol Gliie 5 @b 345

o2 2=

x; g sy g n =
Y dx’ dx"

ploged Jad SO A e dbolee Ny g o |y M as o Juusl s dlalen S
il a3l o s (glad JSi5 sle olon 490

d’y dy
@ (Pt )y =0
,dz 22
dy {x o X )y =0
T rﬂzo
20 dx




VY[ PV FYD

AR

338 Slawbxo 2 (5590

ODE’s _Jgors Jawsl yis3 ¥ 3lre
Dg0d e (S dLwd g3 4 lo o ]y 598 Y oleo aJS

Initial Condition Problems (ICP) sitwa aJgl baslyis (glyls a8” 5Valso (call
S > Yoles jd 0y

Boundary Value Problems (BVP) s (550 bl s (s &5 5Voleo (o

Sl Al 358
1'y(x0)'y(x1)' 'y(xn—l) 4?)9] Ia’)““’
2.y (%), 7(x0), ¥ (x0), e, Y1 (%) Sy bl
21
$33 Slowbre 12 (6590

Euler method  Jg g,

il adly 1y 5 dolee S 548
Yy +a ym) =r  with y(0) = y
ol 5 38> Ol gl a8

C 5 r
y(t) = (}’0 = —)6 a4 —

a a
V() =dy/di i) iy b Jlo

v(t +h) — y(r) oS o ok )3 1) nj Xy,
j iU

h
y(t+h)=(1—ah)y@)+hr with y(0) = y

a V)=~

22




VY

VY[ PV FYD

338 Slawbxo 2 (5590

Euler method  Jg g,

IS & pl5 S5
y(h) = (1 —ah)yO)+hr = (1 —ah)yo + hr
y(2h) = (1 —ah)y(h) + hr = (1 —ah)*vy + (1 —ah)hr + hr
y(3h) = (1 —ah)y(2h) + hr = (1 —ah)?yy + Zf‘n:()(l —ah)"hr
a=1 r=1 y(it)y=1—e

dle Jo pl5 12l ol s
pp sl codguze 1/h) o ol 55 luwlre Lol 395 oo yia B> 5 S g8 p5 L

(5!
Ao o
338 Slawbxo 2 (5590
Euler method  Jg g,
t h=05 h =025
0.25

v(0.25) = (1 —ah)vo+ hr =1/4=0.25
0.50 | v(0.50) = (1l —ah)vg+hr=1/2=0.5 v(0.50) = (3/4)v(0.25) + 1/4 = 0.4375
0.75 v(0.75) = (3/4)v(0.50) + 1/4 = 0.5781
1.00 | v(1.00) = (1/2)¥(0.5) + 1/2 =3/4 =0.75 v(1.00) = (3/4)v(0.75) + 1/4 = 0.6836
1.25 v(1.25) = (3/4)¥(1.00) + 1/4 = 0.7627
1.50 | v(1.50) = (1/2)v(1.0) + 1/2 =7/8 = 0.875 | v(1.50) = (3/4)¥(1.25) 4+ 1/4 = 0.8220

24




VY[ PV FYD

V'Y

338 Slawbxo 2 (5590

Euler method  Jg g,

0.8 h=0.25 ]
0.6 h=05 N
0.4 i . =

the (true) analytical solution

yity=1-e~

0.2 -

O 1 | |
05 1 1.5 t 2

25
L uluwlbu X SI9R

26

R L CR IR Pt L,

Euler method  Jg g,

Sy Jelyins ©¥oleo sl Jol (0,

yf(z) = f(z, y) with Y(I()) =Yo

Yit1 = Vi + hf(ze, yi) with y(75) = ¥o

O (h) Jsl ooy sls

E 00 9O iy ]

3k =0, IN, VanzN =|a, |2 k|a, |

prid gt L]

a,=0(a, ), n—>x, or g =0(a,).




V¥

VY[ PV FYD

27

338 Slawbxo 2 (5590
RUNGE-KUTTA U oS-l g

LS SOy Jgl

{3’/ =f(xy)
y(x0) = y0

Y1 = Y + hf(fe, yi) with y(70) = Yo
9 f Xk, Vi) = akq + bky o p &S
Yn+1 = Yn T %(kl + ky)
ki = hf (xk, yk)
k, = hf (x + h,yx + h)

2,65 Gl @lds Jol (g, b gy ol 5o s

28

338 Slawbxo 2 (5590
RUNGE-KUTTA U S-S5l (g

bys' SOy ol
5 JSb a4 dolre i 5,8 L

h
Yiel =¥ + g(fkl + 260 + 2633 + fra)

teor = £, yi)

foo = £t + h/2. ve + Ferh1/2)
iz =t + 1 /2, ¥k + 2k /2)
fia = L0t + b, yi + fi3h)

D)3 )8 (o548 g (qwdige Slowlre | gyl > (b9, (]




VY[ PV FYD

Yo

338 Oluolo 12 (5590
RUNGE-KUTTA U o5-S51, V9 )

OhY) i, s
MATLAB (h%) s
SIMULINK

J gl bss Sl v, 51 0de23() 5 0ded5() olyguss cdlas 153l 5 5
il sl B Ly ks o o5 ol (e 4] S e o0li

1 T T T

lees 59 Ao

29

338 Oluolo 12 (5590

lelg> <83 l Gl g0 3 Jolb duglia ol (gl ine
Slowlxo o im0 {

Wgad ol iy dolee G (ol b duglis

Vi) =—y(t)+ 1 with y(0) =0

ode_RK4() ode_ABM( ) ode_Ham() ode23() 0deds() ode113()

Relative error — 0.0925 x 107 0.0203 x 107 0.0179 x 107 0.4770 x 107" 0.0422 % 107+ 0.1249 x 107+
Computing time 0.05 sec 0.03 sec 0.03 sec 0.07 sec 0.05 sec 0.05 sec

igeh D gy Al yobo ) Absleeya (sl HL S ol Lobwo
30




VY[ PV FYD

\R4

338 Slawbxo 2 (5590

G105 Jand] 05 Y lro

PN LgLa'_é d)91 )lﬁ

xi'(t) = fit, x; (1), x2(0), ...) with x(fp) = xyo

x2'(t) = folt, x1 (1), x2(0),...) with x;(fy) = x20

x/'(f) =X, x(t))

with x(7y) = Xy

Sl o S 35 1y )b p Jawilyis ¥olee 0dE4S jgwd a5 5,8 cd> wb

31

x1'(1) = x2(1)

x3'(£) = —x2(t) + 1

function dx = df{t,x)
dx = zeros(size(x));
dx(1) =x(2);
dx(2)=-x(2) + 1

[T,Y]= ode45(df,[t0 tf],x0);

32

338 Slawbxo 2 (5590
S10 5 Jan] 5 Y lro

with x;(0) = 1 Ju
with x> (0) = —1

MATLAB
SIMULINK




VY[ PV FYD

ARY

33 Sluolxe 2 (5590

Jand] 325 SY oo
S5 oy Sloghl )3 OIS (B

s & s d‘.))_j 4 g0 dLo)' ol 4 a>g) (gdAe 1) J.'> 2
)13 3929 b g yuiite o5 Jb 95 93 Cllae plad ola)lE 15 5
o e ) Pl 0 Mg sl goie (polul 393 138l p 5 juate P50

And

)l38l o)y o slo p5 5l uons oolainl puuses

513 o Configuration parameters sy ;> clodss ol don
ol o yiawd JoB8 llas

MATLAB
CSIMULINK

33

34




www.salampnu.com

39 PL (59l a2 po ol

doliewly U ol podd Jlgaw aigod 53 1Y+ 51 giw i y96 plo OYlgw digos v
90 4S9 09« Llis v
bl dols p V7
P B 9930 o g ibe v/
395 Pl Obgzmils (aiso S8 5158 Ve 51 Glw 51, Sols 3gdils v/

www.salampnu.com


www.pnust.com
http://www.salampnu.com
http://www.salampnu.com



